[PLANTA PRIMERA

EDIFICT 1 EDIFICI 2
SUPERFICIES UTILS H1.1 | H1.2 H1.3 H1.4 | H1.5 H1.6 H1.1 H1.2 | H1.3 H1.4 H1.5
MENJADORESTAR| | 2045 19,85 | 22,20 20,83
CUINA 945 10,38 | 10,78 9,02
CUINA-MENJADOR| 22,66 18,96 19,55 | ' 22,04 | 19,40 16,81 @ 16,14
HABITACIO 1| 10,53 | 11,41 12,45 12,20 12,87 | 13,03 12,24 13,82 11,36 9,56 16,73
HABITACIO 2| 9,16 11,94 9,00 8,30 9,70 | 10,47 8,83 10,66 10,42 |
HABITACIO 3| | 9,71 | 4.07
BANY 1| 328 = 435 4,70 3,75 | 1T 5,29 8,34 416 . 3,61
BANY 2 319 3,10 3,60 443 | 3,98 3,0/ 356 '
SAFAREIG 3,80 S22 2,91
DESPATX 7,42 | 6,78 6,43 6,13
REBEDOR 10,45 6,97 6,76 6,80 | 8,34 | 754 6,75 el 3,20
PAS | 6,80 | 11,36 '
TOTAL SUP. UTILS| 45,63 82,46 55,18 54,16 83,76 | 72,53 69,29 | 59,14 78,78 33,17 39,68 | %
TERRASSA 1] 12,63 20,63 2,80 7,23 s 1,32 1,91 19,56 14,23 16,73
TERRASSA 2 1,67 ' 223
[ TOTAL SUP. UTIL TERRASSES| 12,63 | 22,30 2,80 = 0,00 @ 7,23 | 1,32 | 1,32 | 1,51 | 21,79 1423 16,73 | HABITACIO 1 (H)
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[ SUPERFICIES CONSTRUIDES H1.1 H1.2 H1.3 H1.4 H1.5 | H1.6 H1.1 H1.2 H1.3 | H14 | H1.5
| SUP. CONSTRUDA HABITATGES| 52,19 99,99 63,50 62,33 100,64 | 88,39 75,11 | 66,67 89,74 38,74 36,14 |
SUP. CONS. 50% TERRASSES| 6,67 11,27 1,16 1,19 | 353 | 046 0,46 0,56 11,12 720 855
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